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.…BLM 1–1.…

(continued)


Chapter 8 Gifted and Enrichment
	1. Identify the equation of a line in the form
y = mx + b that together with the equation
2x + 2y = 12 forms a linear system with an infinite
number of solutions.
	2. Solve the following system of equations graphically.

y = 3x + 4

y = 5x2 – 4

	3. The school chess club is selling T-shirts for a profit of $4 each and baseball caps for a profit of $5 each. The club wants to sell 50 items and make a profit of $230.

a) Use a graph to determine how many of each item the chess club needs to sell.

b) The chess club needs $400 to fund a tournament. The club would like to sell all 40 of the remaining caps to fund the tournament. In addition, how many T-shirts must the club sell?

	4. Ron charges $10 per hour to cut grass and Janet charges $12 per hour to rake leaves. Ron also charges a flat rate of $12 to cover his travel costs to each job. One day, Ron and Janet start and finish work at the same time. They both earn the same amount of money.

a) How long did Ron and Janet work, and how much did they earn?

b) Erica charges $15 per hour to weed gardens. If Erica worked for the same amount of time as Ron and 
Janet did in part a), how much more money did she earn than Janet did?

	5. Four corners are cut from a rectangular piece of cardboard that measures 10 ft by 4 ft. The cuts are x feet from the corners, as shown in the diagram. After the cuts are made, the sides of the rectangle are folded to form an open box. The area of the bottom of the box is 16 ft2.
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a) Develop two equations to represent the area, A, of the bottom of the box.
b) What are the dimensions of the box?

c) What is the volume of the box?

	6. Adam and Ella launch model rockets at the same time. Adam launches his rocket from a building 20 m above the ground. His rocket rises at a rate of 15 m/s. Ella launches her rocket from ground level. Her rocket rises at a rate of 20 m/s.

a) Write an equation in the form h = mt + b to represent each rocket’s movement, where h is the height, in metres, and t is the time, in seconds.

b) Sketch the graph of each equation on the same grid. When are the rockets at the same height?
c) If Adam uses a different rocket that rises at a rate of 20 m/s, when will the two rockets be at the same height?
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